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Mon 6th 	N-S	1st	Tomas & Sally	69%	2nd	Hans V & Paul Q	67%
E-W	1st	Jeremy & Sean	65%	2nd	Paul S & Ivy	62%
Wed 8th  	N-S	1st	Coutlet & Duplessy	58%	2nd	Terje L & Keith	57%
E-W	1st	Bob S & Olaf	65%	2nd	Paul B & Richard M	56%
Fri 10th  	N-S	1st	Paul S & Mike Guin	58%	2nd	Paul Q & Guttorm	56%
E-W	1st	Bob S & Olaf	64%	2nd	Coutlet & Duplessy	62%


Bidding Quiz		Standard American bidding is assumed unless otherwise stated.

Hand A	Hand B	With Hand A partner opens 1♦ and you bid 1♥. Partner rebids 2NT (18-19), what do you bid?
♠ 8532	♠ Q652
♥ K1076	♥ KQ7	(a) What do you open in 1st seat with Hand B?
♦ -	♦ J73	(b) What do you open if playing a weak NoTrump?
♣ KQ986	♣ A86

Hand C	Hand D	With Hand C partner opens 1♦ and you bid 1♠. 
Partner rebids 1NT:
♠ KQ65	♠ AKJ4	(a) What do you bid if playing better minor?		
♥ 98	♥ J4	(b)	What do you bid if playing a short ♣?
♦ 7642	♦ AKQ106
♣ Q76	♣ J3	With Hand D you open 1♦ and partner bids 1♥, 
(a) What do you rebid?
(b)	Suppose you rebid 2NT and partner bids 3♣, what now?


Bidding Sequence Quiz

E	1♦	pass	1♥	pass	
2NT				2NT is 18-19, but does it deny four ♠’s?

F	1♣	1♠	pass	1NT	How strong is 1NT opposite a 1-level overcall? 



Finding the 4-4 Major suit fit after a 2NT jump			   Board 23 from Friday 10th Dec
Dealer:	♠ AKJ4				Table A
South	♥ J4		West		North(D)	East		South(A)
both vul 	♦ AKQ106		-		-		-		pass
	♣ J3			pass		1♦		pass		1♥
pass			2NT	(1)	pass		3♣	(2)
♠ Q96		N	♠ 107		pass			3NT	(3)	all pass
♥ Q85	W	E	♥ A932		
♦ 97432	S		♦ J85		Table B
♣ 54			♣ A1072			West	North(D)	East		South(A)
	♠ 8532				-		-		-		pass
♥ K1076					pass		1♦		pass		1♥
♦ -				pass			2NT	(1)	pass		3♦	(2)
♣ KQ986					pass		3♠	(4)	pass		4♠
all pass

Table A:	(1)	What did you bid with this North hand D(a) in this week’s quiz? This is OK. A  jump to 2♠ is the alternative and shows a shapely hand. Note that this 2NT jump rebid does not deny a 4-card major.
(2)	What did you bid with this South hand A in this week’s quiz? This depends upon your partnership agreements, but you must have a treatment to enable you to find a possible 4-4 ♠ fit with this hand. With no specific agreement this 3♣ is forcing and fine. 
(3)	What did you bid with this North hand D(b) in this week’s quiz? With no specific treatments agreed, you should bid 3♠ in case there is a 4-4 ♠ fit.
Table B:	(2)	This is the best answer to question A; it is the PARROT convention, game forcing and asking partner to clarify his major suit holdings. 
(4)	Shows 4 ♠’s and denies 3 ♥’s.  

And what happened? Five pairs found the superior ♠ game and outscored the two who played in 3NT.

The bottom lines:
· A 4-4 major suit fit is ‘golden’
· A jump 2NT rebid may conceal a 4-card major.
· You need a treatment to find your major suit fit (4-4 or 5-3) after a 2NT rebid. Easily the best is the PARROT convention which is explained on the website in the conventions section: conventions > section 2 (new conventions or treatments) > PARROT.

Dave’s  Column		Here is Dave’s 1st problem this week, on declarer play
North	South			West		North	East		South
♠ AJ102	♠ Q74			-			-		-		1♣
♥ K52	♥ A63	pass		1♠		pass		1NT
♦ A76	♦ K94	pass		 3NT		all pass
♣ J43	♣ A765
			 		
You are South, declarer in 3NT. West leads the ♥Q, plan the play.

Dave’s Column Answer					Board 19 from Wednesday 8th December 
	
Dealer:	♠ AJ102				Book Bidding
South	♥ K52		West		North	East		South
E-W vul 	♦ A76		-			-		-		1♣
	♣ J43			pass		1♠		pass		1NT
pass		3NT		all pass
[bookmark: OLE_LINK25][bookmark: OLE_LINK26][bookmark: OLE_LINK29]♠ K5	N	♠ 9863		
♥ QJ984	W	E	♥ 107		
♦ J832	S	♦ Q105
♣ Q2			♣ K1098	
	♠ Q74		 		
[bookmark: OLE_LINK30][bookmark: OLE_LINK31]♥ A63			West leads the ♥Q, plan the play.
♦ K94	 
♣ A765	

Most South’s took the ♥Q with the ♥A and immediately led the ♠Q, happy to catch West’s ♠K. However, when he tried to run the ♠ suit East’s holding applied the brakes. With little chance (or time) to develop a 9th trick elsewhere South had only eight tricks.
South was correct to try the ♠ finesse, but he should have exercised more care. Instead of leading the ♠Q at trick two, he should lead a low one to the ♠10. When the finesse wins, South returns to his hands in ♦’s to lead another low ♠. This time West’s ♠K covers nothing of value and South’s ♠Q provides the 9th trick.
When is it correct to lead the queen from this holding? Leading the queen is is best when South lacks entries to repeat the finesse. In that situation, leading the ♠Q is the only way to pick up the suit when West has ♠Kxx.

And what happened at the Pattaya bridge club? 3NT-2, 3NT-1 five times, 3NT= twice.



Dave’s  2nd Column				Here is Dave’s 2nd problem this week.

West	East			West	North	East		South
♠ A9643	♠ KJ5		1♠			pass		2♠		pass
♥ K	♥ A43		4♠		all pass
♦ AKQ	♦ 9652
♣ QJ109	♣ 873

You are West, declarer in 4♠. North leads the ♣AK and a third ♣ which you win. Plan the play in the trump suit.

Dave’s 2nd Column Answer					Board 20 from Wednesday 8th December 
	
Dealer:	♠ 10872				Book Bidding
South	♥ 9752		West		North	East		South
E-W vul 	♦ J3		1♠			pass		2♠		pass
	♣ AK2			4♠		all pass

♠ A9643	N	♠ KJ5		
♥ K	W	E	♥ A43		
♦ AKQ	S	♦ 9652
♣ QJ109			♣ 873	
	♠ Q		 		
♥ QJ1086		
♦ 10874	North cashes the ♣AK and a third ♣ which you win, 
♣ 654	how do you continue?

You can afford one trump loser but not two. There is a safety play that can come to your assistance here. Start by playing a ♠ to dummy’s ♠K. If nothing good happens, play a ♦ to your ♦A and lead a low ♠ towards dummy’s ♠J. As long as ♠’s are not 5-0 or ♦’s 5-1 with the opponents getting a ♦ ruff, you are home.
Here the ♠Q drops and the contract is made, losing just one trump trick to North.

And what happened at the Pattaya bridge club? 4♠= three times, 3♠+1, 4♠-1, 3NT-2 twice.



Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20

	1937.0 Hans Vikman
1929.6 Janne Roos
1870.1 Paul Quodomine
1815.2 Tomas Wikman 
1758.8 GuttormLongberg
1754.5 Jan Chris v Koss
1749.0 Bengt Malmgren
1734.8 Johan Bratsburg
1736.2 Paul Scully
1720.3 Mike Guin
1707.7 Bob Pelletier
	682.9 Hans Vikman
678.6 Janne Roos 
655.7 Tomas Wikman
643.5 Paul Quodomine 
641.6 Sally Watson
631.5 Jeremy Watson 
629.1 Alan Kleist
628.9 Derek & Gerard
628.5 Lars Broman 
627.6 Sean Burgess
625.6 Jean Wissing
623.3 Jan v Koss
618.1 Johan Bratsburg
617.3 Guttorm Lonberg
616.5 Duplessy & Coutlet
614.2 Bob Short
613.2 Paul Scully
613.1 Tonni Kjaer 
608.8 Bengt Malgren
608.5 Sigurd Zahl
	354.8 Hans Vikman 
351.4 Janne Roos
341.8 Tomas Wikman
331.5 Sally Watson
327.5 Derek & Gerard 
327.4 Jeremy Watson
326.8 Lars Broman 
326.4 Paul Quodomine
325.6 Sean Burgess
325.1 Jan v Koss
325.0 Alan Kleist
323.8 Tonni Kjaer
321.4 Jean Wissing 
320.2 Duplessy & Coutlet
318.4 Sigurd Zahl
318.1 Bob Short
314.2 Niels Krojhaard
314.1 Guttorm Lonberg
313.8 Johan Bratsburg
312.0 Paul Scully




Bidding Quiz Answers

Hand A:	This is up to you, but you must have a mechanism to uncover a possible 4-4 ♠ fit. There are various conventions used after a jump 2NT rebid including the Wolff sign-off and New Minor Forcing; but easily the best convention is PARROT where 3♦ here is conventional, game forcing, and asks partner to clarify his major suit holdings.
Hand B:	(a)	Pass. Deduct a point for the 4333 shape and with no intermediates the hand is not worth an opening bid.
(b)	Pass. It is even more important to pass with this sort of rubbish when playing a weak NoTrump as a double will be for penalties and probably very expensive.
This is South hand 6 from Friday and two passed it out for a near top. The only +ve score was a pair who managed to stop in 1♠ in a 4-3 fit opposite a 7 count, everybody else went down in 1NT or 2♠.
Hand C:	(a)	Pass, clearly.
(b)	2♦. This shows the advantage of playing a short ♣ - you know that partner has four ♦’s and the 4-4 fit will usually play better than 1NT.
This is West hand 26 from Friday and most played in ♦’s scoring 130 and the one player in 1NT scored only 120.
Hand D:	(a)	2NT or 2♠, I would not argue with either but with two very weak doubletons I slightly prefer 2♠. Note that 2♠ shows a shapely hand and this is the minimal acceptable shape for the bid.
(b)	3♠, even if 3♣ is natural, partner may have four ♠’s.


Bidding Sequence Quiz Answers

E	1♦	pass	1♥	pass	
 2NT				A jump 2NT rebid may well have a four-card major.

F	1♣	1♠	pass	1NT	1NT here is 10-12. It is not 6-9 as opposite an opening bid but is a constructive bid. The reasoning behind this is that 1NT is not needed as a ‘courtesy’ bid as it is opposite an opening because partner’s overcall has an upper limit of about 16 or so points. Also, partner may have as few as 8 points and so a jump to 2NT may well be too high.
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